Philosophy 211 – Problem from class Nov 21st

On Tues, Nov 21st, I ran out of time working on the following problem:
(x(y(Rxy v Sxy) ├ (x(yRxy v (x(ySxy
Step 1: Since my goal is an ‘v’ I will  
1
1) (x(y(Rxy v Sxy)

A

assume its denial in order to get it by RAA. 
2
2) ~((x(yRxy v (x(ySxy)
A [for RAA]
Then I use DeM to simplify.
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Step 2. Without the quantifier exchange
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1) (x(y(Rxy v Sxy)

A
rules this problem becomes very difficult.
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But with them, it isn’t too bad.  The first 
2
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step is to turn lines 4 and 5 into more easily 
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4) ~(x(yRxy


3 &E

usable lines.  Once I have a ‘(x’ statement
2
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I will put in an arbitrary name for x.
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Step 3. Because of the way line 1 is 

1
1) (x(y(Rxy v Sxy)

A
structured it seems clear that since I have 
2
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an ‘a’ after the ‘S’ in line 8, I need an ‘a’ 
2
3) ~(x(yRxy & ~(x(ySxy
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for x in line 1.  That means ‘a’ after the ‘R’ 
2
4) ~(x(yRxy


3 &E

as well so I will put an ‘a’ into line 6 too.
2
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Then I have ~(y so I use QE again and  
2
6) (x~(yRxy


4 QE 

plug in another new name for another (E. 
2
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I will also use QE to make line 8 easier 
8
8) ~(ySay
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to use (which here I did first.)
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Step 4. Because of line 12, it is now obvious    1
1) (x(y(Rxy v Sxy)

A

what letters to plug in to line 1 and then to 
   2
2) ~((x(yRxy v (x(ySxy)
A [for RAA]

line 9 to get my contradiction.  I can’t  
2
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immediately do (E though since my line 
2
4) ~(x(yRxy
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still has ‘b’ in it.  I need a line without ‘b’.
2
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since when I have done my two (Es I will
2
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be looking for a contradiction, the most 
2
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useful line to have would be something 
8
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that directly leads to a contradiction.  For 
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example, I could simply do the RAA first 
2
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to get my goal directly (the denial of line 2).
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Once I do that, I do my (Es and the RAA
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again to get rid of all of the assumptions 
1
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that I made.
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Here the QEs don’t always make the problem shorter, but they do make it a lot easier to understand what is going on and therefore a lot easier to see how to proceed.  The final trick of what to do when you are doing an (E inside a RAA is one that is tricky, but fairly easy (and essential) to learn.

